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1.(a) x*-2x+1=0 TN Ty
(x-1)?=0 "
x=1
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= =50++/2 465
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- (©) 2x? +4x=5+5x
W 2x2—x-5=0
Q
= Leta=2,b=-1,c=-5.
- 2. (a) 2 4+6x+5=0 .
i 6. 6 Using the formula,
s X+ 6x+ ()7 —(2)?+5=0 .
m 2 2 (=D (=D —4(2)(-5)
© Cl.wva@ATmH@ r= 2(2)
= 2
2 (x+3)" =4 _1£41+40
3 X+3=42 -
fw X = 1|1”m or IHH
.m , (b) 2x* ~5x-8=0
53
= =2 x% - MN -4=0
S £ 2 (d)
. 23 502 50
22 2o 2)?—4=0
5 AAV F_v
5, 25 ‘
x=22 -2 4=0 ine the:
( Av T Using the:formula, ,
5 89 , S
cTMvN;_!mno L TAENA - A2)3) _ —4£48 v
52 89, S
(x IMV 1Aqv =0 . The equation has no real solution.
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Z2x+1
357 —1lx—40=2x"-9x -5
2 =2x-35=0
(x=Nx+5=0
x=7 or =5
2 2 A Bp 2
12. (a) x" +8px+1=x" +8px+( — (=) +1

2

(x+4p)t =16p” +1
(x+4p)r +(1-16p?)

o l=4p, m=1-16p°

~
L

(b) %= px+2p=’ = pr+ (5 =Dy +2p

5

Q|Wm5m|+§

Il

2
_Py _r_
(x Mv +(2p Av

2

P P

s ===, m=2p——
2 P 4

13. Since is a root of 2x2 —3x—ag=0
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14, Since =2 1s aroot of 2x

2

Chapter 1 Quadratic Equations & Quadratic Functions 19

24 6x+k=0

s

2

22 +6(-2)+k=0

k=4

Substitute k =4 into the given equation,

T
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(b)

17. (a)

2x

2 6x+4=0

Adm~ +8m—20+8

dm~ +8m—12

)

m-+2m—3
(m—1D(m+3
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m HW or H|w
When m=1,
2 4202-5)x+8=0
¥ 6x+8=0
=2(x-4)=0
x=2 or 4

. When m =1, the other root =4

When m=-3,

i

NOo o @

9x% +2(~=6-5)x +8
9x% -~ 22x+8=
(Ox —4)(x—2) =

X = or

O |

. When m = -3, the other root =

5]
ol

xw._,wxl:

m‘«wtmujrw
X2 +3x+1=20% —50c+21

21-Dx? = (51+3)x+ @21 -1)=0
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(b) Since —= is aroot of (*),

2
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(-7 +3=+!

2=3)7 =5+
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{c) Substitute /=~ o into the equation obtain
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ercise 1B (p.13)

D =[~(3k = 5)]° - 4(k)(14)
k% — 30k + 25— 56k
9k? — 86k +25

i
O

Il

(2k + Dx? =2k = (k +4)x
k+Dx? —(k+4)x~2k=0
Let a=2k+1, b=—(k+4), c=-2k

~
Z

D =[—(k +4)]* — 42k + D)(=2k)
= k% +8k+16+16k” +8k
=17k +16k +16

x“—kx+16=0
k* ~ 4¢
KX =64 -
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If m#n, D<O0. 14, X2 +2(a+2)x+(5a+24)=0 D=16-4(c=1)3~c) J
o. The equation has unreal roots. — 2 _ .
e D=[2(a+2)]? —4(5a+24)=0 =16-4Gc—c"=3+0)

= 44— (= +4c-3))
=44+ 7 —4c+3)

2
v A 4+ T)

Aa? +4a+4)-4(5a+24)=0
da®—a-20)=0
buﬁmm:wlﬁmmi 2 ¢ ) > —a-20=0
= 44” — 4a” +4b% + 47 (a-5Na+4)=0
b +ch)

2 2 2 ~
1. x2 4 2ax+a> —b*=c* =0

2

Il

[

~

3

m” +2mn+n" —4(m
i ; Product of the roots = —— =~
13, x° =2a+3)x+(11a+3)=0 roduct of the roo - -
R e 5
D=[-2a+3)I" ~4(l1a+3) (©) (4x+7) =4x> |
N 16x7 +56x+49—4x7 =0

4(a” +6a+9)—4(11a+3)=0
AEN ~5a+6)=0

16. (a) (c—a)x’ —2(a—b)x+(b—c)=0

12x% +56x+49=0

Sum of the roots = — o6

260 D=[-2(a-b)* —4(c—a)b-c) 12
Y — 7
3 =4(a—b)> —4(c—a)b—c) 49
(a=2)a-3)=0 Ha=b) , He-a)b=o) Product of the roots = —
a=2 or 3 =4[(a—b)" —(c—a)b—c)] 12
When a =2, the equation is — 4[a% —2ab+b* —(bc—c* —ab+ac)] (d) 6-5x—25x>=0
7,2, 2 : S
=4(a” +b"+c” —ab—bc—ac) x“ —6=
X2 —10x+25=0 ) ( e o 25 450-6=0
2 = NANQ +2b° +2¢” = 2ab-2bc ‘MA;QV Sum of the roots = —— = ——
(x=5)7=0 o2 2,2 2.2 25 _5
=5 =2a® —2ab+b" +b" =2bc+c” +¢
- Wh i a—— —2ca+ QNV Product of the roots = 5
&.\r mswsﬂ , xtu. | uw:alwvm+@i$u+€15$ i . _25
= t ;
e =2, e equation s -+ a, b and c are not all equal. 2. 3x" =5x-1
2 - 5
* LNT&ME o 2Aa=b)? + (=) +(c—-a)*1>0 o+p=2 an ,
(x-6)2=0 . . 5
et -, The equation has unequal real roots. (@) o+ mw S{a+ @N ~ 20
Wh 5 6 (b) If a=1, b=3, the equation becomes :
en a=3, x=
= (c—1)x? =2(-2)x+(B-¢c)=0
(c—Dx>+4x+(3-¢)=0 )
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(d) o+ mg —at 4 NQN@N n mh _ MQNEM Product of the roots 7. 8% —ax+9=0

= AQN +mwvw - NAQ?N =Qo+H2B~+1) Let o, 2Za be the roots.

o, 5 5 =4of+2(a+p)+1 '
umofrmmv |MWE wwﬁmv =13 Sum of the roots =0+ 20, =300 = = ............ (h
=l=p)" 241" - 24~ One required equation is x2—10x+13=0. 8 9
- Ccm _ w%vw _ wm\m ) Product of the roots = a(2a) = 207 = IR
A 42 42 42 b) Sum of the roots = =+ )
=p ~4dpTg+dg”-2g (b) o Solving (2) QH+M

4 2 2 SOIVIIE Koy, =270,
=p —4p g+2q 4

——— Product of the roots =( ] 3 .
Wi =—, 4= mwf

One required ¢

(=1+/5)(=1-+/5) \ ) 6
=(-D? - (/5) =2+ (a+B)” —of+Pp?) (-t
=—4 =2+4{(0+B)? - 30p] The equation becomes
One required equation is x2+2x-4=0. MMNM 416-3) 12x? =17x=5=0
_ e . ot e o2 Leq Ax+DH3Bx-—-5=
(d) Sum of the roots — m+ww»\m N 5 mw)m One required equation is x 18x +54 tia | N 5
| - N . x=—— ¢ .
10 (d) Sum of the roots HA 3
T =0-B+B-a=0
2 2
=-5 Product of the roots 9. kx"+4x+k"-21=0 )
_ _c_ R k=21
Product of the roots =( > +NW)\|N.X 5-342 ) =(a-P)P-o) Product of the roots = T
2 ’ 2 2
=aB-o” -3 +aff =4
(=5)° = (3+2)* 2
= ;) ) = (0> = 20B+p%) k2 -4k -21=
_ 2 (k=T)(k+3) =
7 =-[(+P)" -4a
2 g s .
One required equation is x? +5x + m =0, One required equation is ¥ -12=0. 10, (kx — :N =k
ie. 4x>+20x+7=0. 6. Let the other root be q. K2x? :
5. 22 drslo0 Sum of the roots =2 — /5 + 0o = 4 Product of the o.w,mul
. X = +1= :
g o=2++/5

o+B=4, of=1

(a) Sum of the roots . The other root of the equation is 2 ++/5 .

=200+ 1+ 2B+1=2(0+B)+2 Product of the roots =/ = (2 —+/5)(2 ++/5)
=10
=@ - (57 :
=zl
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Product of the roots

i I 1
ANQLLXN@JLV 35 )

1 1
By (4 e Y ——) =
y (4. Amg+_me+_v
! 1

Qo+DEB+D 35
1 1

dof+22a+B+1 35

7

14. Let o and o+ 1 be the roots of x™ —px+g=0.

Sum of the roots =ag+o+l=20+1=p...(1)

Product of the roots =o{a+D=¢g...........

I
By (1), a==(p—D
Z

I .
Put oo=—(p- 1) into (2),
L

I

1 1
—(p=Dl=(p=1+
N:N :NQ D+l]=g¢g
1 ]
—(p—1— 1
Nﬂn vwﬁm+v

I

q

EN\_ 4q

0

wmlm_étﬂ

15

Let oo and 0.—2 be the roots of x? +px+g=0.
Sum of the roots

=+0-2=20—2==p .cceccccene (1)
Product of the roots

(2)

1
By (1), ao=—=(2~
y (1), NAM p)

Put a = WAM — p) into (2),
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1 p 1
—2-pl-==-2)= b
NA j218 2 )=q

1 p

NA X 5 y=q

1
=205+ 21=4

1
W@t@:ﬁ.wvﬂg
4

4

g
QNQ:‘fmﬂ

22 2 RV
abmn” =a“cn(m+n)

(S

QNQAS +n)

2
mnb” =
an

(m+ SN ac

17. Let o and { be the roots of ax>+bx+c=0.

Sum of the roots = o+

C

Product of the roots =B =— vvvveveeenn(2)

a

02 +B2 =4 (3)

By (3), o +woﬁ+@w -2op=4
(0.+PB)> —20B =4

2
b 2&y=4
a

S~
a
2 2
b —2ac=4a
2 2
b” =2ac+4a
e o
- -
. e e
ki i i
v = = L - . ,;%.mn
- - = - e . o P
o . n%Js - x,« -
: - . . =
- . -
. - s -

8. (a) Given o and [ are roots of ax® +bx+e=0.

25

Sum of the roots =+ =——

Product of the roots = ofi = —
a

s at+pi= (0+B)> —208

A

. v
19. (a) o and B are the roots of 2x” +ax+b =0
. a
Sum of the roots =+ = -

(ct—1) and (B—1) are the roots of

X rmx+n=0.
Sum of the roots

(b)

i
=(a-D+H-DH= BT (D)
Product of the roots

n§|:a|:um;szszszg5

oy

By (1), o+ B-2=-7
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: 2
By (2), AQINXW‘NVHW 3.(a) 3x ima.lcw@ Product of the roots HQwH!,@M.W@
/ =307 ~2x+ ) . b-a
of —2(0+B)+4 == 3 Consider x“ +——x—(b—1)=0.......... (*#5)
2 5 209 25 10 2 -
| 3 ¢ =3[x" = 2x+ (=) = (=) +—1] . . (i . ;
(D) +4=L 2 2 3 Since (¥;) and (*,) cut the same points on the
2 2 . “w =3(x—1)7 +7 points on the x-axis, o and P are also the roots of
J =t *
) (b) For all real values of x, (*2). b
Sum of the roots =g+ = iﬂlf«hw

duct of the ro

Exercise 1D (p.28)

>
- GX
20+3 7
=2 = —(x—dy’ i +r)
B 2 4
(b) The maximum value of f{(x) occurs when
2.(a) 3x?-12x+14 ; x=3.
4 71 3-2- _
ux.m»flﬂ 3 S
: =6
4, 4,5 14 g=6
=3[x% —dx+ AM\.( =) iﬁiw (¢) f{x=0
) - ’ 2
=3(x-2)2+2 ~x-I2 (L1 <o
- Nw — “|N)w Q —_ W N N NM..
(b) For all real values of x, Form (b) q =0
© 4
(x=2)220 o2
3(x=2)>20 i —+r=0
3x—2)2 +220+2 ;?N+NT,R|M =29
2
3x"-12x+14 22 s B3x?+2x -7 s always negative for all real 8. (a) y-intercept =k
IS Y | values of x. .
2 12xt1d 2 x-intercept = 1, 3
3 5. The graph of y=ax’—8x—4 lies below the _k
8 < A A )= 2500 ~3)
5 == x-axis for all values of x, i.e. a<0 and D<0. 3 :
3x° —12x+14 2 5 e
8 <4 D=(-8)" —4a(-4)<0
I 2% +14 64+16a<0 (b) f(x)=
g a<-—4 .
o The maximum value of 5 =
. 3x° ~12x+14 6. Consider 2x? +2ax —(b+1)= 0.ocovverreres (%))
is 4. Let o and 3 be the roots of (¥;). -
m:BoT:waooﬁmnofrmn‘wmﬁnla =
. - . - - . Mm . ww‘ ;% - - - -
e - . , - = . o
e - - . - ,M - . % - - - . . vmww,.ﬁuw - - =
- - . - . - , . o .
L - - - = o Wu e Wﬂ - - . wm . - o o -
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5
I a? +B% = 12. |x2 -5x+5|=1
2 _ o}
(o+B) \ngwmxo x> =5x+5=1 or X’ -5x+5=-1
l_l
A<mm.vwlmAlrvH x?=5x+4=0 or x2—5x+6=0
m%+o (x—=Dx-4)=0 or (x=20x-3=0
16— —="=9 5 x=14 or x=2,3
lm:lmna e
a==2

Nv».,h‘%k“%

Exercise 1E (p.34)
has 1. TM.T.:lm@tmm |_\ww i
=|5]-[-6]-|-3]
=5-6-3
=
i B el el
2 4 @T_q 16]-[12-5] 9. 5 =9 16 — 17. No solutions are provided for the H.K.C.E.E.
H,lw-iiﬁx_i ,N : 5 guestions because of the copyright reasons.
_ _ x—=1l=
HWE / 2x—1 =45 or 2x—1=-45
= 2x=46 0T 2x = —44 i8. y
\&Hm or RHI!NN
3. %C«vn_wklﬂii T
o, |&=x|_ 1
F(0)=[20)=5[+[0[=[-5]=5 3x| 2
O=lm-sl1f=|-31f=3e1=4 6=x L sex_ ;
the 3+x 2 3+x 2
f(=3)=|2(=3)=5|+|-3] 12-2x=3+x or 12-2x=-3-x
n_!:_itw_ 9=3x or I5=x
=11+3 x=3 or x=15 19. :
x+4)=4x—6 or 3(x+4)=—4x+6 H it
a, mgu} 34122416 or 3x+12=-4x+6 }
-6 -6 x=18 or xnlvw.
mﬁlovu»lm_nﬂnu For the same reason as question 8, x=18. ‘
. . - ﬁ%ﬁ - . .
- - - - ﬁ%w - -
, - , . -
. S . . - - .
, 0 r o w = ‘ @r }ww i
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4 ) _ 2 .
Product of the roots =gff=——=-2 v (k=2)"=20,.. D>0 ]
2 -, The graph of v,uwwaLN»%f‘ (x=—1)
(a) QN@ + Qmm = off(o+B) cuts the x-axis for any value of k.
5
N twﬂwv 8. ¢ and B are roots of 25 =3x-5=0.
_— lw . W
— ) 5 Sum of the roots = +B ==
(b) (0.—3B)3e—B)=30" —af - 9o +3B° 2 .
= wAQN + WQ )~ 100 Product of the roots =off = 1%
= 3[(0+B) - 2ap] - 100p -

o+2 and B+2 are roots of

by are 1o0tLs

By (2),

= 2[(ar + B)? — 2aB] + 5B
=22 ~2-D1+ 5D 9. @ o +B’ =(a+B)a =335
=7 ! Sh
One required equation is 2 —6x+7=0. =335
(b) o?B+0B? = af(o+P) | ’ =67......(%)
=-1(2) (o+p)” - 20p~af =67
" , =2 52 30 =67
(*B)ap?) = o'B o =-14
3 ==
= (o) By (%), o +B? =67 +af
= (-1’ — 6714
= 1 Hm
One required equation is x?42x-1=0. () o? and mm are roots of equation
has 5 5 Sum of the roots = ¢ +mw =353
Tey= wxm il +N+ »CM D Product of the roots = ¢ ’B% = (af)?
=3x"+12x+T+kx" —k ITTCN

=(3+k)x” +12x+7 -k 196
D=122 —4(7-k)3B+k)
= 144 — 4021 + 4k — k2)
=144 — 84 — 16k + 4k>

One required equation is x> —=53x+196=0.

t0. (a) Let o, —o be the roots of
X2+ (k% + 14k +45)x +2k—5=0.

2
=4k” —16k +60 Sum of the roots = oL+ (—0)
= 4(k* — 4k +15) =0
4 2
_ap? sk + (32— 32 415 , = —(k? +14k +45)
, 22 K2 +14k+45=0
=4k-2)"+44 (k+5)(k+9)=0

or -9

k=-5

Chapter 1 Quadratic Equations & Quadratic Functions 31

(b) When k=-5,
the equation becomes

X% +[(=5) + 14(=5)+45]x + 2(=5) - 5=0
x?-15=0
When k =-9, -

the equation becomes
o) ..

+14(-9) +45]x +2(-9) -5

40k =0
240k? — 680k + 400 =0
6k> — 17k +10 =
(6k —5)k—2) =

—

k=

lovfin @
<
=
1]

12 — 16. No solutions are provided for the H.K.C.E.E.
questions because of the copyright reasons.

17. o and B are roots of ax’ +bx+c=0.

Sum of the roots Hinnfwn

a
-

Product of the roots = aff=—
a

(@) o +p% =(a+p)a’ —op+p?)
= (0 +B)[(c+B) —20B — 0]
(a.+B)[(0+B)* —30PB]

I

g
B(b* - 3ac)
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b is If x=B, FLfBI-B=rB-P (b) A-1*)x> = 2mx+m* =0 Since kf(x)= g(x) has equal roots,
Hw[@ (A+0)(1 = Dx* —2mx+m* =0 wufmfemLs:ai»zno
s o, Bare also the roots of f[f(x)]-x=10 [A+Dx=ml(d=Dx—m]= QS N 36k +36k+9+ wM» +12k% =0
(b) For f(x)=x*-3x+2, =1 T Am»w 48k +w =0
w<w m@oﬂ fy—x=0, . . — = AMM\M MAWMMAM@,W M w
je. x-—4x+2=0 2. J,x.,lm(«u +4=0 - ;
—(~4) £ (4)7 — 4(2) (x =T =)= k=2

= i S

i
i

Jr+9+11=x

Jx+9
x+9 +121
X2 -23x+112 o =
20. (a) Let o be the common root of the two equation (x—16)(x=T7)=0 T
30 +ao+b=0 Check: Wh X le m@ or 7 ﬂmw —cp 2 =
1 30 +bo+a=0 ek e am bp—aq  aq—bp
, , LHS. =+16+9 +11 (ar —cp)”
(- (@2), (a=bya=a-b ~16 ol EH?‘I@Q
o=1 (- a#b) mem aq —bp
b As =1, 3 - o (br —cg¥ag —bp) = T:f&im
(by As a=1, 3+a+b=0 When x=7,
a+b=-3
LHS =7+ . y
a and b are roots of x>+ hx+k=0 |w@|@+3 8 .. TR
Sum of the roots =a+b =-h ZRHS. ‘ ku X x|
-3=-h )
h=3 wox=lo
al to -
Product of the roots =ab =k
2 5 (=) +(1-4x)-6=0
or Since h, k are positive integers and a+b =~ (I=x)" + =)

k =ab = (=1)(=2) =2 is the only solution. [(1=Vx)=2][(1=x)+3]=0
ok=2 1-Vx=2 or l—-+x=-3
N Jx =1 (rejected) or Jx =4

21. No solation is provided for the HLK.C.E. . =16
question because of the copyright reasons. N T =
Enrichment 1 (p.38) 6. f(x)=x> ,@Twﬁ, o(x) = 3x
1. (a) 2 —6acx +a*(9c* —4b*)=0 @AMQH%C&
2 —6acx +[a(3c +2b)-a(3c —2b)] =0 ke — 6kx —3(1+ k) = 3x
[x — a(3c +2b)][x — a(3c —2b)] = 0 kr? —6kx —3 -3k —3x=0 ;
x = a(3c £ 2b) ke? — (6k +3)x —~ (3+3k) =0 :

% 5 T s e =
. = E :
o =
- . :
- . -
e 5
o o - W@M@& i
o c . - . -
. . . - . - i -
- . - - -
7 < 3
%% 2 . - = - s e
- o o - - - e
- - - :
e - Ce e
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~42)4) 72417
_ 4
2. 943x-4x’ =0
A4x? +3x+9=0
Let a=-4, b=3, c=9.
Using the formula,
344032 Z4(-4)9) 344153 3+341
‘N. sy = =
2(~4) -8 8
3. 5x+12=3x"

3% —5x—12=0
Let a=3, b=-5, c=-12.
Using the formula,

L(=5) £/(=5)? — 4(3)(~12)

2(3)
54169

X
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4.Llet a=3,b=4,c=5. Classwork 5 (p.11)
Using the formula, L 252 —x—21=0
2 N
4447 —4(3)(5)  —4++/-44 D=(=D"-4(2)(-21)
X = 203) = 6 =169
The equation has no real solution. =132
o D>0 and D is a perfect square.
. . The equation has two rational roots
5 Since 4 isarootof 3x" +ax+8=0,
§ wﬁﬁuimﬁ,:m 2. 9—Sx+ux" =
4a - -5¢v+9=0
The o1 :
Classwork 4
5:24+9x-2=
4.
D=9~ 4(5)(-2)
- 121
=11

equation

has two equal rational roots.

D is a perfect square.
A 48x+16=0

D=8%—4(16)

Classwork 6 (p.11)

o

1. x> +8x+5k=0
82 — 4(1)(5k)
64 — 20k

D is a perfect square.
242 = 7x+3=0

D=(=7)* - 4(2)(3)

-
I

il

9

2. 2x7 —dx—(k-3)=0

=25
52 D=(-k)* - 42)[~(k-3)]
12

D is a perfect square. B \AN +8(k=3)
Mam —5x+4=0 = E
D=(-5)" - 4(2)(4)

= Classwork 7 (p 13 )
D is not a perfect square. 1. x*—(2m- Dx=2m=0
9x? ~30x+25=0 D =[-2m =D} - 4(-2m)
D=(-30)% - 4(9)(25)

no

D is a perfect square.
which is the square of a rational number.

Therefore the roots of the given equation are
rational.
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Classwork 9 {(p.16)

1. 2x* +3x-7=0

{(b) For all real values of x,

. 3

Sum of the roots =+ = -5
. 7
Product of the roots =afi = -

2

o +B°=(o

[ae]

o~
m,

2. Let o and
Product of

(]
~J

IR0

Sum of the roots =

. ol . P
2. o and B are the roots of x~ +px+¢g=0. 3. Let o and 2o be the two roots.

Sum of the roots =+ =—p Product of the roots = o(2¢) = r
Product of the roots =afi =g

(po.—q)* +(pB—q)*

Sum of the roots = o+ 20 =-2¢g

2002 =1 e, (H
= p*o’ =2pgo+q”° + p°B* - 2paB+q° 300=-2g ... (2)
2

=@ +B%)-2pq(a+P)+2g @) a=24 Classwork 12 (p.28)
= p*[(0+B)* —2aB] -2 pg(a+B) +24° 3
= p*(p? —29) - 2pg(~p)+24* Put o = =29 into (1), 1. (a)
_ 4 2 2 2 3
=p =2p°q+2pq+2q

4 2 wﬁxmm Z -
=p +2g 3 y=r > X

Classwork 10 (p.18) 9
m&w =0r

1. o and B are the roots of x> —x-7=0.

Sum of the roots =+ =1
Product of the roots = off = -7

Classwork 11 (p.24)

1 !
Q+P+@+WHQ\+ +|t@+on H.ANV WRM|NRIHHmARM‘W,RIWV .
¢ P op 2 2 2 1 .
_ 2~ AN2 A2 b
nI|w =30 =X (2T (2 ] - o
B 1 2 4 ' fE
=7 (x wv 3

7
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(d)

B

o}

2

3. Consider the discriminant of x° — 2mx + m(m + 3)

|

D= AIN::M —dm(m+3)

4m® = 4m* —12m

—12m

m>0, —12m<0

~+ D<0 and the graph opens upwards

s x? —2mx+m(m+3) is always positive fa
any real values of x if m>0.

Classwork 13 (p.32)
1. (@) |5+2x|=3

5+2x=3 or S5+2x=-3
x=-l or  x=4
(b) |2+3x|=|6-2x]
24+43x=6-2x or 2+43x=—(6-2x)
S5x=4 or 2+3x=-6+2x
RHW or x=-8
W S
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2x+1 lm‘
2. (a) EP
2x+1 1 2x+1 1
=— or — =
3-x 4 3—x 4
42x+D=3—-x or 42Zx+D)=x-3
8x+4=3-x or Bx+4=x-3
1
xX=—= x =]
2 -
(b)
Classwork 14 (p.32)
1.
(.
2. 300+ D2 =7 x+1]+2=0
Let a=|x+1|20
QMHTTT:N
HQ+CN
~. The equation becomes
3a2 = Ta+2=0
(a=2)Ba-1)=0
1
=2 Or a=—
. 3
Vo x+t=2
x+1=2 or x+1=-2
x=1 or x=-3
_x+:HM
3
x+_Hw or xLLHIM
3

Classwork 15 (p




